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M4 5 F

T4 FERBE CLHR) [FRE (P) (B R)ERISE (B2R)

Uil 75 B B

& B REE

17 B HMEREEXEHE
=1 B EIZEeE
BEoMsa IEE
BHEZES 18-19-22-029



SHEERNRE SHAEELFEACLAHR) RGN R)ERITE (F2R)

4 [ IR - WAKTiE By B = B {f oo % =

EEIEE 118, 749, 425
iR () (& R) 118, 749, 425
H@ET 43,788, 951
HEBEEET 43,788, 951
BEEER 43,788, 951
1-1 &R MES~100ke/ERRE CE%R) 3,039. 00 14, 409 43,788, 951

m3
WE - RET 74, 960, 474
WEETL 74, 960, 474
WEE 53, 066, 620
1-2 ®HER A1, 000ke/{ERERE (iR A) 2,774.00 19, 130 53, 066, 620

m3
WESL 21, 893, 854
1-3 w&EHLM) +50cm  10m~ 15m3k i 265. 00 11,482 3,042,730

m2
1-4 HEHL Q) +50cm  15m~ 20m3k i 1,278. 00 13, 446 17,183, 988

m2
1-5 W&EHL Q) +50cm  20m~ 25m3k i 114.00 14,624 1,667,136

m2
HBEREEGELD) 5,527, 206
HBRE 5,527, 206
EBREE 5,527, 206




SHEERNRE SHAEELFEACLAHR) RGN R)ERITE (F2R)

£ 5 R - AR Bify #H = B @ £ B S
ZEE 5, 389, 806
REXE 5, 389, 806
1-6 REERMK FRP D 180PSZ! 1.00 5, 389, 806 5, 389, 806
=
B EEE 137, 400
Bt EE 137, 400
1-71 BT ERE HRBIARE. E=4) U REIIE 1.00 137, 400 137, 400
%
EiZAEE 1,710, 966
B EH 1,710, 966
TILTFE—LBAIE 1,710, 966
TILTFE—LBAIE 1,667,966
B2 EEH 504, 639
2-1 BIE#AE 1.00 322,998 322,998
=
2-2 HMER (1ERSZY) 1.00 181, 641 181, 641
=
KEHE 619, 719
2-3 BETX 1.00 613,209 613, 209
=
2-4 T ILFE—LBIE 0. 01 651, 002 6,510
km2
BE 543, 608




SHEERNRE SHAEELFEACLAHR) RGN R)ERITE (F2R)

%_0 R B - BRI BfL % 8 B ff ® # m o=

2-5 PIRT—SBHE 1.00 543, 608 543, 608

=
BEERE 43,000
S 43,000
2-6 XBHER 1.00 43,000 43,000

=
E R 237,518
BE 3] 237,518
TILFE—LAE 237,518
EEAGE 230, 600
S 230, 600
3-1 3RFTERE T — 2 1ERL 1.00 230, 600 230, 600
BEERE 6,918
S 6,918
3-2 EBHAME 1.00 6,918 6,918

=




SHEERES SHAEESREC IR EBRECH SR ERTE (H2R)

£ b B - KT B % =2 L] ® & W=
EEIEE 118,749, 425
BEIER 13,673,416 + 31,185,579 44, 858, 995
HBEREE GDH 5,527,206 + 7,433,714 + 712, 496 13,673,416
HBRHE (BLE) 5,527, 206
HBEREE (X ) 118,749,425 x 6.26% ((4.64% x1.00 +1.50%) x 1.02) 7,433,714
BHRERER 118,749,425 x 0.60% 712, 496
RiSEER 132,422,841 x 23.55% ((21.57% +1.29%) x 1.03) 31,185,579
TR 118,749,425 + 44,858, 995 163, 608, 420
—REBEES 163,608,420 x 16.03% (16.03% x 1.00) — 292 26, 226, 137
RREEE 163, 608, 420 x 0.04% 65, 443
T H{fits 163,608, 420 + 26,226, 137 + 65, 443 189, 900, 000
EEIEH 1,710, 966
B 1,710,966 x 79.9% — 8,027 1,359,034
REBEE 1,710,966 + 1,359, 034 3,070, 000
e TT 3,070, 000
E R 230,600 + 6,918 237,518
EEAGE 230, 600




SHEERES SHAEESREC IR EBRECH SR ERTE (H2R)

£ b B - BT B % =2 B @ ® & W=
EERE 6,918
T DAt R f 230,600 x 53.85% ( 35% = (1 — 35%) ) 124,178
e i 237,518 + 124,178 361, 696
—REEES 361,606 x 53.85% (35% =+ (1 — 35%) ) — 6,469 188, 304
ES {id 361,696 + 188,304 550, 000
BEHEE 189,900, 000 + 3,070,000 + 550, 000 193, 520, 000
HERERLE 193,520,000 x 10.00% 19, 352, 000
EATISE 212, 872, 000




Rifiz -/ \v7r—o

BTHAFEERBREGI AR RGP RIER TS (F2R)

= 1-1
L EERER #AES~100kg/ERRE GE2R) 1000m 34 Y
2 b g - BIRTE BT o = BHO(f ® # " =
BR #A5~100kg/AIEE (ki%R)
m3 1, 300. 00 10, 800. 00 14, 040, 000
Bkt D 270PSE! 3~5tH
B 1.38 215, 936. 00 297,991 8H
MR EXENOY
% 0.50 14, 337,991. 00 71, 689
& B YEZERES - 1,000.00m 3 14, 409. 00 14, 409, 680
&5 :1-2
L WEBER A1 000kg/(ERE (ki%RA) 1000m 34 Y
2 b g - BIRTE BT H = BHO(f ® # " =
HWER #A1,000kg/ERRE GEi%R)
m3 1, 300. 00 14, 400. 00 18, 720, 000
Bkt D 270PSE! 3~5tH
B 1.46 215, 936. 00 315, 266 |8H
MR ELNOY
% 0.50 19, 035, 266. 00 95,176
& B YEZERES - 1,000.00m 3 19, 130. 00 19, 130, 442
&5 :1-3
L% WwEHML ) +50cm  10m~15mkiE 1B%Y (18.9m2)
2 b g - BIRTE BT H = BHO(f ® # " =
Bkt D 270PSE! 3~5tH
B 1.00 215, 936. 00 215,936 8H
MR 2E0%
% 0.50 215, 936. 00 1,079
& B 1E%HES : 18.90m 2 11, 482. 00 217,015




Rifiz -/ \v7r—o

&S :1-4
&% HEHL Q)

+50cm  15m~ 20mk ji&

BTHAFEERBREGI AR RGP RIER TS (F2R)

1HEY (21.1m2)

2 b g - BIRTE By = B ) W = " =
BKEMQABKAX (RE)) D 270PSE! 3~5tH
B 1.00 282, 304. 00 282,304 8H
MR 2E0%
% 0.50 282, 304. 00 1,411
& B 1E%RESN : 21.10m 2 13, 446. 00 283,715
&5 :1-5
L% HEBEHML G +50cm  20m~25mk i 1B%Y (19.4m2)
2 b g - BIRTE By = B ) W E " =
BKEMQABKAX (RE)) D 270PSE! 3~5tH
B 1.00 282, 304. 00 282,304 8H
MR ELNOY
% 0.50 282, 304. 00 1,411
& B YEZEREN : 19.40m 2 14, 624. 00 283,715
&5 :1-6
2 b g - BIRTE By = B ) W E " =
ZEEEMm FRP D 180PS#Y
B 48. 00 111, 729.00 5,362,992/6.00H / 8H
MR 2E0%
% 0.50 5,362, 992.00 26,814
& B 1E%HeRH - 1.00K 5, 389, 806. 00 5, 389, 806
&5 :1-1
&2 HTEREE FREBIRRE. T2V OJREBIIRE 14y
2 b g - BIRTE By = B ) W = " =
HitEEE E-ARYIUTRAE
I 1.00 37, 400. 00 37, 400
HitEEE HEREIMAE
I=E 1.00 100, 000. 00 100, 000
& Hi 1E%HeH - 1.00K 137, 400. 00 137, 400




Rifiz -/ \v7r—o

BTHAFEERBREGI AR RGP RIER TS (F2R)

&5 :2-1
&% BIEER 1LY
2 b g - BIRTE By = B O ® W = " =
BIEFEHEM
A 2.00 48, 000. 00 96, 000
RIS HRER
A 3.00 42, 200. 00 126, 600
Bl S H A
A 3.00 32, 400. 00 97,200
MR 2E0%
% 1.00 319, 800. 00 3,198
& B 1YE%HeH - 1.00K 322, 998. 00 322,998
&5 :2-2
£ BAMEROEESZY) 1LY
2 b g - BIRTE By = B O ® W E " =
BIEHEE
A 1.00 25, 400. 00 25,400
FSvo 2tiE
B 1.00 29, 863. 00 29,863 /4. 70H / 8H
Jx)—EE 5~6mEiG
= 1.00 124, 580. 00 124, 580
MR ELNOY
% 1.00 179, 843. 00 1,798
& B 1E%HeH - 1.00K 181, 641.00 181, 641




Rifiz -/ \v7r—o

BTHAFEERBREGI AR RGP RIER TS (F2R)

&5 :2-3
& BETX IEED)
£ 5 L - BIRTiE BAf = B & % = 1%
REE S4 kY 2L
B 1.00 3,426.00 3,426/2.00H / 8H
B2 FEHER
A 1.00 48, 000. 00 48, 000
RIS HRER
A 1.50 42, 200. 00 63, 300
B
A 1.50 32, 400. 00 48, 600
BEENF
A 1.00 31, 100. 00 31,100
BIEf FRP D 70PSZE!
B 1.00 48, 887. 00 48, 887 8H
GNSS;BIfI & DGNSS
B 1.00 25,575.00 25,575
TILF E—LEEBIFEE 36~455kHz
B 1.00 338, 250. 00 338, 250
HEMH 2EDY
% 1.00 607, 138. 00 6,071
& B 1E%HeH - 1.00K 613, 209. 00 613, 209




Rifiz -/ \v7r—o

BTHAFEERBREGI AR RGP RIER TS (F2R)

BE .24
Z TILFE—LAE 1BEY (1.02km2)
2 b g - BIRTE By = B O ® W = " =
REE S4 kY 2L
B 1.00 3,426.00 3,426/2.00H / 8H
BIEf FRP D 70PSZE!
B 1.00 57,402. 00 57, 402 |8H
BIEFEHEM
A 1.00 48, 000. 00 48, 000
RIS HRER
A 1.00 42, 200. 00 42,200
Bl S H A
A 1.00 32, 400. 00 32, 400
BEBF
A 0.50 31, 100. 00 15, 550
GNSS;BIfI & DGNSS
B 1.00 31, 775. 00 31,775
TILFE—LBERZEE 36~455kHz
B 1.00 420, 250. 00 420, 250
MR 2E0%
% 2.00 651, 003. 00 13, 020
& B EEREN :1.02km 2 651, 002. 00 664, 023
&S .25
B RAFET— 2 EE 1LY
2 b g - BIRTE By = B Ol ® W E " =
BIEFEHEM
A 3.10 48, 000. 00 148, 800
RIS HRER
A 4.10 42, 200. 00 173, 020
Bl S H A
A 6. 20 32, 400. 00 200, 880
MR 2E0%
% 4.00 522, 700. 00 20, 908
& B 1E%HeH - 1.00K 543, 608. 00 543, 608




Rifiz -/ \v7r—o

BTHAFEERBREGI AR RGP RIER TS (F2R)

&5 :2-6
2% EBHRRA 1LY
2 b g - BIRTE By = BHO(f %8 # " =
EBHRERERE
= 1.00 43, 000. 00 43, 000
& Hi 1YE%HeRH 1,00 43, 000. 00 43, 000
&5 : 3-1
ZFF  SRFTEET T —FERK s EP
2 b g - BIRTE By = BHO(f %8 # " =
FEHRAR (F%ET)
A 1.00 58, 600. 00 58, 600
AR (A)
A 1.50 51, 200. 00 76, 800
e (B)
A 1.50 41, 600. 00 62, 400
AR (C)
A 1.00 32, 800. 00 32, 800
& Hi 1E%HEDN 1. 00HEER 230, 600. 00 230, 600
&5 :3-2
&% EHARE 1LY
2 b g - BIRTE By = BHO(f %8 # " =
EXERARE
= 1.00 6,918. 00 6,918
& Hi 1E%HeRH - 1.00K 6,918. 00 6,918




